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1. In the given figure,sinN =
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3. In the given figure,tanQ =

0
-

P Q

. Oop QP QP QO oP
(i) PO (ii) 00 (iii) RO (iv) PQ (v) Q0

4. In the given figure, cotF =
F
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5. In the given figure,secP =
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6. In the given figure,coseclL =
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7. In the given figure,sin] =
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9. In the given figure,tanC =
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10. In the given figure, cotE =
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11. In the given figure,secH =
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12. In the given figure,cosecH =
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13. sinK=
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23.

COSA =
1 1 1 1 1
(i) (ii) (iii) (iv) (v)
secA cosecA cotA sinA tanA
tanL =
1 1 1 1 1
(i) (i) - (iii) - (iv) - (v)
cosL seclL cotL cosecL sinL
cotM =
1 1 1 1 1
(i) (ii) (iii) (iv) (v)
sinM secM cosM cosecM tanM
secC =
1 1 1 1 1
(i) (i) - (iii) - (iv) - (v)
cosecC cotC tanC cosC sinC
cosecF =
1 1 1 1 1
(i) (ii) (iii) (iv) (v)
cotF tanF secF sinF cosF

InAFGH, right angled atG,ifFG = 35 cmandGH = 12 cm, findsinH
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InAFGH, right angled atG,ifFG = 35 cmandGH = 12 cm, findcosH
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In AOPQ, right angled atP,ifOP = 8 cmandPQ = 6 cm,findtanQ
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In ANOP, right angled atO,ifNO = 8 cmandOP = 6 cm, findcotN
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InAFGH, right angled atG,ifFG = 15 cmandGH = 8 cm,findsecH
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24. InAHI), right angled atl,ifHI = 24 cmandl) = 10 cm, find cosecH
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25. From the given figure,find sin(90 — C)
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26. From the given figure,find cos(90 — D)
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27. From the given figure,find tan(90 — £)
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28. From the given figure,find cosec(90 — K)
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29. From the given figure,find sec(90 — G)
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30. From the given figure,find cot(90 — D)
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